

VISAYAS STATE UNIVERSITY

Visca, Baybay City, Leyte 6521-A Philippines

Tele Fax: +63 53 563 7067 e-mail: op@vsu.edu.ph; website: www.vsu.edu.ph

NOTICE OF AWARD

04 January 2016

MR. RYAN G. BAYOTAS

Account Executive NG KHAI DEVELOPMENT CORPORATION Hernan Cortes St., Banilad Mandaue City, Leyte

Dear Mr. Bayotas:

We are happy to notify you that your bid dated **December 17, 2015** to supply and deliver **I.T. and Office Equipment** is hereby accepted. Please see below the details of the award:

Item No.	Description	Qty	Unit Price	Total Price
1100-000	For RCCRC-Climate Change			
1	Digital Flash Voice Recorder	4	5,719.00	22,876.00
2	UPS Back-up	3	10,340.00	31,020.00
	For OVPRE-Climate Change			
3	LED TV, 58"	1	76,489.00	76,489.00
	For VSU-Alangalang			
4	Aircon 2,5HP, Window Type	11	25,075.00	275,825.00
5	Stand Fan (small plastic blades)	2	1,287.00	2,574.00
6	Typewriter manual	3	25,850.00	77,550.00
	TOTAL:			486,334.00

The total contract price is FOUR HUNDRED EIGHTY SIX THOUSAND THREE HUNDRED THIRTY FOUR PESOS (Php 486,334.00) only, as found in your technical and financial proposals.

You are hereby required to formally enter into contract with us and provide within ten (10) working days the performance security in the form stipulated in the Bidding Documents.

Failure to enter into the said contract or provide the performance security shall constitute sufficient ground for cancellation of the award and forfeiture of the bid security.

Very truly yours,

EDGARDO E. TULIN

President

CONFORME;

Printed Name and Signature of Bidder

Date: 1-22-16



VISAYAS STATE UNIVERSITY

Visca, Baybay City, Leyte 6521-A Philippines

Tele Fax: +63 53 563 7067 e-mail: op@vsu.edu.ph; website: www.vsu.edu.ph

NOTICE OF AWARD

04 January 2015

MS. RHODORA R. CUAJAO

Proprietor JOEBZ COMPUTER SALES & SERVICES Salazar Cor. J. Romualdez St., Brgy. 14, Tacloban City, Leyte

Dear Ms. Cuajao:

We are happy to notify you that your bid dated **December 17**, **2015** to supply and deliver **I.T. and Office Equipment** is hereby accepted. Please see below the details of the award:

Item No.	Description	Qty	Unit Price	Total Price
	For Various Offices			
1	C2030 colored Copier, Network Printer with Scanner	3	198,500.00	595,500.00
2	Paper Cutter	1	9,950.00	9,950.00
- 3	For DDC			
3	All-in-One Printer, Copier and Fax Machine	1	17,920.00	17,920.00
4	Uninterrupted Power Supply (UPS)	1	19,800.00	19,800.00
	For DoE, CoEng			
5	Desktop Computer	60	26,133.80	1,568,028.00
	For DoE, DoA	-1.1100		
6	Printer (3-in-1)	5	7,408.50	37,042.50
	For DoE			
7	LED TV	2	35,134.35	70,268.70
	For OVPRE			
8	LED Flat Screen Monitor/TV	1	149,300.00	149,300.00
9	Professional HandyCam	1	198,500.00	198,500.00
10	Computer Server	2	170,750.00	341,500.00
11	Elite Screens	1	100,000.00	100,000.00
	For CoEng			
12	Printer (3-in-1)	1	7,408.50	7,408.50

13	DLP Projector, 3500 Lumens	1	17,920.00	17,920.00
	For PRCRTC			
14	Storage Cabinets	2	73,500.00	147,000.00
	For RCCRC-Climate Change			
15	Notebook Computer	2	39,750.00	79,500.00
16	Desktop Computer, with Heavy Duty and big Printer (A3 Size)	1	93,000.00	93,000.00
17	Fax machine, All-in-One	1	18,559.90	18,559.90
18	16-series Microphone Set with Complete Sound System	1	66,850.00	66,850.00
19	LCD Projector	4	15,950.00	63,800.00
20	Megaphone	4	2,650.00	2,650.00
21	Walkie Talkie	3	5,600.00	16,800.00
22	Heavy-duty filing cabinet, steel	6	4,850.00	29,100.00
23	Heavy-duty Big Tractor with Trailer	1	300,000.00	300,000.00
24	Stand Fan, Heavy- duty, 3D brand or equiv., Industrial- type, tri- leg standee	4	5,890.00	23,560.00
25	Grass Cutter	1	15,000.00	15,000.00
-m 900	For DFS-Climate Change			10,000,00
26	Laptop Computer	1	48,200.00	48,200.00
27	Desktop Computer	1	26,133.80	26,133.80
21	For DDC-Climate Change	-1	20,133.00	20,133.00
28	Printer, with Original Epson CISS and Original Inks, Black	1	12,911.50	12,911.50
29	Cool-Lux Hollywood Chroma Key Blue/Green Screen Kit II	1	60,500.00	60,500.00
30	Lapel Mic	1	96,400.00	96,400.00
31	Shotgun Mic	2	56,900.00	113,800.00
32	Notebook Computer	1	100,000.00	100,000.00
33	Still Camera	1	162,400.00	162,400.00
34	Canon Speedlite 600EX-RT	1	20,720.00	20,720.00
34	For DAE-Climate Change	-31	20,720.00	20,720.00
35	Underwater Camera	1	70,000.00	70,000.00
33	For DBM-Climate Change	1	70,000.00	70,000.00
26		4	16 000 00	16,900.00
36	Digital Camera, latest model	1	16,900.00	
37	Digital Voice Recorder	2	4,980.00	9,960.00
20	For CoEng-Climate Change	-	04.050.00	40 700 00
38	Digital Camera	2	24,850.00	49,700.00
	For ITEEM-Climate Change		22 222 22	20 000 00
39	Underwater Camera	1	23,200.00	23,200.00
	For DSS-Climate Change			- southern the
40	Split type airconditioner (floor mounted) For DPM-Climate Change	1	63,700.00	63,700.00
41	Pressure Cooker Autoclave	1	31,500.00	31,500.00
	Gas Range	1	30,000.00	30,000.00
42	For VSU-Alangalang	-	30,000.00	30,000.00
43	Aircon 3HP High quality, ceiling mounted,	2	60,000.00	120,000.00
	inverter type	-7/5		
44	AVR w/ meter reader heavy duty 1500V	6	4,800.00	28,800.00
45	Ceiling Fan (big)	10	1,980.00	19,800.00
46	Computer set PC w/ OS and Programs	31	21,026.50	651,821.50
47	Conference Table (10 seaters cap) - hard wood w/ chairs - fabricated	1	28,800.00	28,800.00
48	Digital Camera	6	4,850.00	29,100.00
	The Control of the Co		25 540 40	153,296.40
49	LCD with Projector Screen	6	25,549.40	100,200.40

·		-	TOTAL:	6,403,890.80
02	Water Dispenser	1_1_	6,900.00	6,900.00
61 62	Wall Fan (big) plastic blades	58	1,850.00	107,300,00
THE PROPERTY OF	Vacuum Cleaner	2	13,900.00	27,800.00
38	Typewriter - 18" Electronic	1	9,850.00	9,850.00
58 59	Swivel Chair - w/ arm rest Jr. Exec .	17	4 2,400,00	40,800,00
57	Steel Filing Cabinet 4 drawers with VAULT & lock system	1	14,300.00	14,300.00
56	Steel Filing Cabinet 4 drawers w/ lock per drawer	13	7,950.00	103,350.00
55	Sala set w/ center & side table (FOAM)	1	19,500.00	19,500.00
54	Ring Binding Machine	1	8,500,00	8,500,00
53	Refrigerator	1	10,000.00	10,000,00
52	Office Table (2 side drawer & 1 center table) Executive w/ Table top glass	1	10,000.00	10,000.00
Ψ,	drawer) hard wood	17		. *, ***

The total contract price is SIX MILLION FOUR HUNDRED THREE THOUSAND EIGHT HUNDRED NINETY AND 80/100 PESOS (Php 6,403,890.80) only, as found in your technical and financial proposals.

You are hereby required to formally enter into contract with us and provide within ten (10) working days the performance security in the form stipulated in the Bidding Documents.

Failure to enter into the said contract or provide the performance security shall constitute sufficient ground for cancellation of the award and forfeiture of the bid security.

Very truly yours.

EDGARDO E. TULIN

#President

CONFORME!

Printed Name and Signature of Bidder Date:





VISAYAS STATE UNIVERSITY

Visca, Baybay City, Leyte 6521-A Philippines

Tele Fax: +63 53 563 7067 e-mail: op@vsu.edu.ph; website: www.vsu.edu.ph

NOTICE OF AWARD

04 January 2016

MR. JUVINILLE T. PARMIS
Institutional Sales In-Charge
EMCOR, INC.
Tres Martires St. Cor. 30 D. Deciembre St.,
Baybay City, Leyte

Dear Mr. Parmis:

We are happy to notify you that your bid dated **December 17**, **2015** to supply and deliver **I.T. and Office Equipment** is hereby accepted. Please see below the details of the award:

Item No.	Description	Qty	Unit Price	Total Price
	For Various Offices			
1	Desktop Computers	10	35,000.00	350,000.00
	For DDC			
2	All-in-One Workstation for Non-Linear Video & Audio Production	1	139,000.00	139,000.00
	For OVPRE			
3	Digital Camera Kit and accessories	1	68,000.00	68,000.00
	For PRCRTC, CoEng			
4	Professional Digital SLR Camera	2	70,000.00	140,000.00
	For CoEng			
5	Biometric Finger Print Reader/Scanner	50	10,500.00	525,000.00
	For DBM			
6	Laptop	2	68,500.00	137,000.00
7	LED Flat Screen Monitor	1	58,900.00	58,900.00
	For DoA, CoEng			
8	Laptop	4	26,000.00	104,000.00
	For OVPRE-Climate Change			
9	LCD Projector with Screen	1	28,000.00	28,000.00
10	Laptop	1	29,500.00	29,500.00
	For DFS-Climate Change			
11	Digital Camera	1	38,000.00	38,000.00

15		1	26,500.00	26,500.00
15	Laptop Computer For RCCRC-Climate Change	1	26,500.00	26,500.00
16	Box-type aircondition	6	24,000.00	144,000.00
	For DPM-Climate Change			
17	Refrigerator	1	22,900.00	22,900.00
18	Airconditioner	2	14,900.00	29,800.00
	For VSU-Alangalang			
19	Laptop w/ OS and Programs	11	29,500.00	324,500.00
20	Printer (Continuous)	11	7,595.00	83,545.00
			TOTAL:	2,559,645.00

The total contract price is **TWO MILLION FIVE HUNDRED FIFTY NINE THOUSAND SIX HUNDRED FORTY FIVE PESOS (Php 2,559,645.00)** only, as found in your technical and financial proposals.

You are hereby required to formally enter into contract with us and provide within ten (10) working days the performance security in the form stipulated in the Bidding Documents.

Failure to enter into the said contract or provide the performance security shall constitute sufficient ground for cancellation of the award and forfeiture of the bid security.

Very truly yours,

EDGARDO E. TULIN

President

CONFORME:

Printed Name and Signature of Bidder Date: 1/22/2016